My 7|z Cizy

HI
>
HI
4n
10
P
9'1

Lo

202106187}/20210621Lt

18. ¥ FA4 y=2" y=—22+27} T F AL (24,

E 1
(25, yo) BF AR @y < 2z, W), <EI|>oA &2 ARE

2 |
C = <y, <1

)

#Comment
O i 3A|, "8 %A J2[7], M4 EXE EA
@ W™ AN SA HIF7]

® fla), gla) thA HWBIY 4, x, CHA H|LS}H7|

2 5 ™ Aolel 7|27|2 SN

@ x1y10||_.|' (xg_x1>(y2_y1>8 AtZtE ol H o

2fZOf| CHRISH HEA[SH&F7|

©)
_|
e
DN | =
my
rlo
£y
fu[n
rlo
|

S
([T
i i
0x
mjo
o
o
rot
N
o

7| CHA Hlm



https://blog.naver.com/math4x/222523971457
https://youtu.be/f9aH3VV5JMg

My I|=

Clxto|

A+gs =3

of
=

A
A LLC

H1
4>
H1
4n
10
4>
ot

Jor

2L 5 3Q y=207"3 y=|logyz| 7} Tt F F

@_7.(__7&
S o

20201021LF

-

(29 1) BF BHAF 2 <2, Q T, <BII>O)M &2 ;413&3 0] =
gz 18 Re? [47]

< B 7] >
= 1 < g, < -
E J[..l 2
V2 <g, < /2
32 —2
= Ys G
#Comment

® a<bE BESHZ| ?ld AOIOf] ¢ <z <@l » BE= HA

Tip! 1. 27|29 =Xt7t
Tip!

Ol8EE AL Ch
2. Rl2E 2o| Zofof th4 Hm 4|8
ofgta, A /BHOIS 0|8



https://blog.naver.com/math4x/222523971457
https://youtu.be/f9aH3VV5JMg

My 7|z Cizy

H1
4n
10

O

Jor

21. % 24 y=[2"—4], y=loga 7} B ¥ A9 2 BEE 2, 2, (3, <2)8 T W,
<H7ZI>oA &L AL Q= g2 & ALY [44]
<K 7>
7. logy3<x; <z, <log,6
L. (1’2*1’1)(2“72“) <3
. 2914+2% > 8+log,(log; 6)
#Comment

@

@
®

@

2021 AR2H(LE) 21

H2 HsiM sS4 MeF7I

a<b<c<dO|H c—b<d—a(EZH0 BAHEH XIH)

91)_ A|-7_||-

x,9,OILt (2 — 29 ) (y, — 2
25 AICH2[E S0

(25— 21 ) gy +yy) +2

—
o &0l



https://blog.naver.com/math4x/222523971457
https://youtu.be/f9aH3VV5JMg

Ha Jl= Cleol X484 2a84

1L LC

N
G- PN

3

47

Jor

20210415
15 393 go] 18 2 A5 ko disle] F 34
y=log,|kz| % y=log,(z+4)7} i N2 te 7 J&
A, Bl dla, H BE Avs 4 y=log,(—z+m)o]
24 y=log, |ke| s Bbe 4 F B7k ohd A2 Cot 3.
A A A, B, Co zA3ARE 4% 2, z,, 2,012 T W,

<B7]>A &2 ATE gl g2 28 AL?
(&, z, < z,0l3, me AFolth) [43]
Y
y=log, |kz|
C y=Ilog,(x+4)
B
y=log,(—z+m)
A
[ x
/ H 7] \

. xy =—2x,°|H k=30]t},

L. @y =2

=, 44 AB¢) 712719 94 ACH) 718719 Fol 0 o,
m+k = 19°]t}.

#Comment
@O WH™2 CHASHA SA MAF7|



https://blog.naver.com/math4x/222523971457
https://youtu.be/f9aH3VV5JMg



